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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Probability sampling is otherwise called :

T 9iaeel &l AT ol 2

Options:
Multiple choice

% qgfdhcdly =g

Uni-variate _.i"uml}'s.iz

THI-af¥ue fageram
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Random Sampli.ng

e e r
z diglzd Hidg=
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A Research Report is a formal statementof .............___.

TH I RO ., T Teh UG (G0N0 B |
Options:

Rezearch Process

| AT Uiha

Research Problem

5 # STAE A

Data collection

3. % :H.I-"]"El '\_:l.__.]. EI:I



Data Editing

4 W \_.E L' '\_;ié-é.:"
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following is not covered under Intellectual Property Rights ?

fa=fafiaa § 9 & difge duer AfTent & Iiaid Jafamar g ?
Options:
Copvrights

;. & PIURIEC

Patents

> % dcc

Trademarks

r

o W 5:1‘5 [

Thesaurus

. forefey
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A bar chart or graph which shows the frequency of occurrence of each value of
the variable which is being analysed is termed as :

T TIT‘r AT UTH Wl IN o Ul HIF hi U & Dl Erll"ﬂl"‘l G CEEI] Er SEED
a9yl fohd _"IT?TE'TE’ Pl HEl I ?T.
Options:

Bar chart

| % W9 AT & w9 H

Histogram
5 Hifeirias & wU H

Candle stick
3 % Do Ne® & w0 4



Tabulation
4% R & w9 H
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The depth of research can be judged by :
Tl W1 TExTs H1 SEToll SHY ST ofl Gehal @

Options:
Title of the research work

% UE B B NS

Objective of research

o o T @ T

Total expenditure of research
- x I BT B T

Duration of research

4 % T @I 3@ty
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The mean of a set scores is 50 and standard dewviation is 10. If the score of each

student is doubled the new median will be -

=T AHI B AeF 50 8 AT AFF FEed 10 £ 1 AT USE B B APl B Gl
& {591 oirg, 93 AT

Options:
Remain unchanged

| RS v

Increase by double
2. '\‘?’? E: g—l_l—ér E"\-ljﬁ

Decrease by half
5 % T HH BFA



Become equal to the mean

4 % T F AER EE
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is net a type ot research question ?
=1 § 9§ B U U2 &1 UBN T8l 7

Options:
Predicting an outcome

% ORUTH @1 Afasgari

Evaluating a phenomenon

o % Tl B Hegldh

Developing good practice

5 % IS URAT BT IG1I

A hvpothesis
4 TP TRHTA
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

All of the following are types of non-probability sampling techniques except :
e # 9 9 IN-uifiredr ufaeel daqle @ JaN & g9

Options:
Purp os1ve samp ling

| w AT AfaSE ®

Snowball sampling

o % VATl gfee @

Convenience Eampli:ng

5 % giaar ufoee &



Random Eamp]_mg

4. diglzgdy Mldg=l @
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
To test null hypothesis, a researcher does nof use :
T YRNEHT & WAV HRA 8g SJEaHdHal 7 § 9 fhesr 9ar 98 s 8 ?
Options:
Chi-square test

s DTS-I TRIETTT

1.

t-test
o % CIOVIE

ANOVA
3 % T

Factorial analysis

4 AT fagero]
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

P-alue stands for -

Tlo Ho& &1 AU 2

Options:
Probability value

1.Jmﬁﬂww

Preference value

E_Qaﬂ?ﬁﬂﬂw

Pre-determined value

_ Ja-T-i¥aa 7Jed



Prescribed value

L% BENECE &
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In the process of conducting research "Formulation of Hypothesis” is followed
by :
FTHET B DI UlhAT H “URSBTAT & AP & g a1 HIar B :

Options:
Statement of Objectives

| w 9aazdl T faaee
Analysis of Data
o w dids BT fwer

Selection of Research Tools

o o ATHET AEET BT T8

Collection of Data

, & SNPS T HIE
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Longitudinal studies of cohort groups .........._. ]
S TRl BT AFas AT €

Options:
Study the same people over time

| % BY FHI W Uh B AN BT T

Use panel members as particip ants

o x AFER & W0 § U Haei &1 STar

Study attitudes at a single point in time

3 % TP I W GCHIT B Fena




Use different participants for each sequenced measurement

L  TI® STHHAT AT 7 A= AFERT B ST
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

A deductive theory is one that :

! - [ i

e g ©

Options:
Allows theory to emerge out of the data
| % Sl RIgid & Siids A o~ 8 o @

Involves testing an explicitly defined hypothesis

o o TSTH RO AT GRAITT IRGCIT BT TR Wi 8

Allows for findings to feed back into the stock of knowledge
5 % [OTIPT SETY g §M & H9g H ufayfic &g ey g

Uses qualitative methods whenever possible
4 % Ol ofd 01 9T B [UIAS TGd BT HANT Bl ©
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Meta data is the data that :
ATl ST 98 SIeT & ol

Options:
Distribute other data

% o4 SICT &l dicdl 8

1

Collect other data
5 % I STCT BT THT BT

Describes the other data
5 « SICT &I Fadr &

Destroy the data
4 % SICI @ & Sl 8
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

FEandomization iz done to :
i Sh
ATGEFHIHIVT Bl ATl 2

Options:
Increase bias

| % IFART B1 9@ & ferg

Reduce bias

o  SAAT @ HH B T ferg

For making hypothesis

3 % UREAT TR & oy

To increase drug efficacy

4 % S e B S & fov
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Data is represented in form of notes, recordings and video tapes in :

ATpel I Alc, ¥PHIeT Ud difedicd & w9 § fAwud f&ear o g

Options:
Qualitative Research

| o TS IFTHE H

Quantitative Research

o s WRATIIES JTHE H

Experimental Research

5 % TARTICHG e H

Descriptive Resea rch

4 % dUHTCH® SFTHET H
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question



Grounded theory is often used in formulation of :
qTSSS LRI & G4 gfaured H agen fhan wrdn 2
Options:

Policies and Programme evaluation research

| o N Ud BRISH Jedih STJHaH &

Opportunity for exploring the facts

o % T BT UAT T TG JTH S

Categorizing data

o R

Understanding the culture

4_%% P GHSH B
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Read the statement A and B and choose the correct option :

BT $ Td G BT Iy 7241 el fabeq gy

Statement A : Variables can be manipulated, controlled or observed by the
experimenter.

FYT F : TN DI TAFTHGT 59T B H amEn, FEEa o sadifead fRar 9 9dar 2 |

Statement B : Variables are not related to theoretical concepts.
HYT | : W AGIAd Faurons | Hafed Tl €|
Options:

Both the statements are true

, % T I TG €

Statement A is true but B is false
o  PIT B T ¢ fbeg P & 9T 2

Both the statements are false

o % G DU IEA T

Statement A is false but B is true

4 % DIT B GG ¢ fbg HUH G A 2
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not a category of legal research ?
Tfaad # HE-A1 AfdE o 3 G0 # A% A 57

Options:
a parasitic discipline of law
| o TEEE T @ ET A

a practical discipline of law
o % AN 9 T =T H

an aspect of the humanities
¢ HFEEH] & U U b =9 H

=

an aspect of social sciences
4% HHIE 95 & 95 & =9 H
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Rejection of null hypothesis when it is true is called :
9 B8 ®i [Refa ¥ 990 dN&Gog=T &l 3 -:_F»r’;d T FHEAal & 7

Options:
Type Il error

, % c8u IMFfe

Type Ierror
o o C -qE - Ia—ﬁr

Sampling error

.y TR 3

Standard error

4 % AF® e
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



In a research study one of the variables selected was (students’) parents’
occupation such as business, farming, service etc. What level of measurement is
this ?

"HTHI HEIE H FAMG U 9 J1a1-0dT $1 dErd oY IR, Wdl, 9al gy |

Options:
Nominal

T

T

"

Ordinal
2. W a ] H Qﬂ- a ':-] ]

Interval

H-aO¥l ¢
o R

Ratio
4 % I3

Question Number : 22 Question Id : 7622115122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What is standard error ?
Options:

Standard deviation of the sampling distribution of a statistic
. A=y & giaeyl g & J1d a9

Modal error value of the standard range of a statistic
5 % WIRGHT & JH® 4ol & HJisd Jic A

Error in the calculation of standard deviation of a statistic
o x QO™ @ A e @ T H Ffe

Standardized statistic to minimize error

4 % 3C PP I & [0 ADIFT HiDEI



Question Number : 23 Question Id : 7622115123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is helptul in determining sample size ?
UfASel TR & MR & § 94 ¥ 9 &4 9896 & 7

Options:
Ruszell 2000 index
| w <H 2000 FABID
Cochran's formula
HIhv &I -9
o o

Tussad's formula

o x Qg @

Spearman's formula
4 % TIHT w1
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following is not true about the case study method ?
‘FTH AFEE A AR H Ffanad # " #9998 57
Options:

It is an expensive method of research

There are many chances of making errors

fe 8M & 9gd d49/EA1 =2l B

=]
-

[t is mainly qualitative in nature
% 5 FEATAT OHE BT B

It is quantitative in nature

4Ju:mm—qtrnrumml 5
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



Read statement A and B and Choose the correct option :

BT & Ud @ BT UgU TUT Wel fadded &1 FA1d PIfeIT :

Statement A : The Latin square design has an advantage over randomized block
design because it is possible to control the effects of two secondary variables.

YT & : olfcd EEER fSuE agfes o fsusd 9 s ameEds & @il
Tg g1 T =R F UHE BT EEd $ H W 2

Statement B : A 2 x 2 x 2 factorial design has six independent variables.
YT G : U 2x 2 x 2 HHMG feus- 4 B8 Wad =@ 8 2 |

Options:
Both A and B are true

lgmqﬁaaﬁrw%

A is true and B is false
5 @ P AT T A W FEA T

Both A and B are false
5 % & Ud & Al o ©

A is false but B is true
4 % P I € AP @ WA @
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple CThoice Cuestion
A researcher is invstigating teacher's attitude towards year-round schooling. She

is particularly interested in describing the attitude of teachers from small,
medium, and large schools. Which sampling procedure should be used by her to
ensure her sample is representative of these types of schools ?
U AJHUMEHT g4 WY el @& Ul HeATUS & AAgRT Bl AU HR I8 2| 98
B, T dAT g5 Wholl H el © AAgRy & < § 99w &y ¥ foo=al o
el gfcifeeg & HJd ?
Options:

Cluster

1 % qE

Quota
2 % ®IC



Systematic

3 % \‘\_.- Ol ¢

Stratified
4 v WG
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following tvpe of research focuses on amending the prevailing
situations ?

=1 9 9 {59 IR &1 FgHu A RIfadr o1 Gune iR Saiad e g 7
Options:

Action research
| o SPATAE STFxEr

Experimental research
o % WATTICHE e

Fundamental research

= ® ﬂ: 1:" EHTTETH

Conclusive research

, x (ORI ST
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If there are eight categories or classes in a goodness of fit test, what will be the
degree of freedom ?

i [e9 A e <% d e &l O & €, a1 W=y ®ifc @1 B8R 2

Options:

1.*8

7

e



Cannot tell on the basis of the information given
4 % &8 T FHGR & AER O 94197 e S qehal g
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
Qualitative research helps in collecting data under more ..........._. situations.

qUITCHS STJHE b fRerferal 3 Siferel Uiz R H Weradl &Yl ¢ |

Options:
Normal

1. % Lo

Natural

5 -\‘;,’? ﬂ E]:S E‘_ 'E:I:S

Experimental
5 % HANTTA®

Artificial

Question Number : 30 Question Id : 7622115130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Read statement A and B and choose the correct option :

YT B Ud @ F IigU TAUT Wl faded vy

Statement A : A case study can be used only in clinical psychology.
YT B : 71 AT (BH ITSI) BT WA hael faer-iad AT H fHar &1 |l
=4

Statement B : The approach of case study is based on the artificial atmosphere.
YT G : g1 AT (W ¥CSl) B glehv HiEH JRe IR A= 2 |
Options:
Both A and B are true
, % U @ EH U

Statement A is true and but B is false

o % DY P U B b O HEA &




Both A and B are false

Statement A is false but B is true
4 % BT P A ¢ olfh] & §F ©
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which tvpe of research focus on what will be ?

fehe UehTY 1 STTHI &1 BT R BIdd Hecl 8 7

Options:
Experimental

1, o TS

Case study

, % 99 A (P ITH)

Survey

5 % Hae

Ex-post facto
4 % q9 T
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of the following should be up to date, complete and affordable for proper

sampling ?

=1 3 9§ ®F Sfag dfaey 2q sterdd, QUi 91 §9a 2 =@1iey ?
Options:
Sampling technique

| x TRE" TE

Sample frame

2_‘&? HE'H\ ;*T‘El-



Reszpondents

5 x AR @ A

Tools for data collection

4%31‘#@@3?@@%
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What is a research design ?
ATHI e F 7

Options:
A way of conducting research that is not grounded in theory

1%a§ﬂmﬂﬁﬂﬂﬁ‘ﬂ1ﬁﬁ@ﬁﬁmﬁﬁﬂﬁg

The choice between using qualitative or quantitative methods

o % TS T4 ORHETUTCHS Tgiadl &1 TR $HY- & 9" faded

The style in which you present your research findings, e. g. a graph

5 % Joit fSTEH 31T SIT e e sieid T BT Igd BYd ©

A framework for every stage of the collection and analysis of data

4 o ATBST & AT T HIE & FAD YA TG Il
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

It a study is "reliable”, this means that :
Ofe gy fdgaa-my é’ s Hod g b

Options:
It was conducted by a reputed researcher who can be trusted

IE Hidfted SHeGal g &1 Widl 2 o WX faward fear o ¥aar €

1 &

The measures devised for concepts are stable on ditferent occasions

, o SRS o Bferd Surr fafi= sraest w Rer 2@ @



The findings can be generalized to other social settings
o [TSRY DI 3 WAME TR & fu aeriigd fBar o wear 2

=3
The methods are stated clearlv enough tor the research to be replicated
A% I B ufadfa {6 o 2q usfaal o1 W w | udid qardr 147 2
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Ethical norms in research does nof involve guidelines for which of the following ?
ST J Aifquwes JE J e H fege fou feen-fae wide 98 @ ?

Options:

Thesis Format

L  JE HaE U

Copvright
o % PHNIEC

Patenting policy

5 % NoC

Data sharing policy

4 % \_,E [_,l \]\*-l-q“] ;” k
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

_________________ is not a source of Hypothesis.

_____________________ NI &1 Udh Hid 7&f 2 |
Options:
Intuition
. % Heul H[E
Knowledge

2IWEI'I_"T



Energy
3 '\‘:5? '-.?_. ATl

Theorvy

|

4 % 194
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following variables cannot be expressed in quantitative terms ?
Frefeiad 4 | (59 =R @1 AEHS sl 4 ad el fhdl ol dadl 8 7

Options:
Socio-economic status

| % HITSTS I Rerfd

Marital status

, x AT Refa

Numerical aptitude

2 arE el iR i

Professional aptitude

L % TIER AR

Question Number : 38 Question Id : 7622115138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is not a citation style ?
faefefag § 9 o9 s 3= faf 98f 2 ?

Options:
APA.

1@?0&[0:{0

MLA.
- UHo Uelo To



Chicago

b

5 % 1

Ohio

4 )
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which of the following is not a defining characteristics of non-doctrinal research ?
frfefaa & & = fe-Haifas ol @ afveias @ 981 & 7
Options:

It is organized around legal principles and appellate court decisions.

= S

o5 fattes =t 3T AJAUeE SJEed & Al @ =9l aiw

It puts lesser emphasis upon doctrines.
, x T8 MmOl 9T HH 9o Gl B |

It seeks to answer broader and numerous questions.
, » 97 378 UFG S UL & ITY WA BB HIAT F |

It may involve the use of research tcn:r]s. and perspectives not pecu]mr to law.
SHH UHT 90e A AN GChvT Tgad 81 ol 5 511 Hdal did 96

4 % HITAT B B E |
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not true about positivism ?

frefafaa § 9 & vemefare (@fsfefes) & ddg § a2 78 2 ?

Options:

It is associated with Auguste Comte

| % TE I B B AT JST &

It denies metaphysical speculation

> % U ToauIHIGD ChHAdToll B gae dYdl @




It emphasises on objectivity

L % € IRGMSAT W WR < @

It iz a method used in qualitative rezearch

» IF U faftr & e war e e H Ear 8
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Cesticon Label ;- Multiple Choice Question



Human Development Index (HDI) is constructed with reference to :

HT [ gAhE (THo Slo Ago) & Mo e e J FHar siar 7 7

(a) Life expectancy at birth, real GDP per capita, gross enrolement ratio, adult literacy

rate.

T & HHF A SEiddr, aEdides Tlo Slo Glo Ufd =i, HE a99T

]

AT ATAI, UG S1Evr a7 |

(b) Life expectancy at birth. real GDP per capita. combined gross enrolement ratio,

adult literacy rate.

S & HHT AT HH(9d1, drdiEss Sile Slo Ulo Ui =AfRd, S
Heel UAel A AU, UG HETl &7 |

(c) Life expectancy, GDP per capita, infant mortality rate, literacy rate.

ATY HAadn, Sio Slo Ylo Uid ==, [919] gog &%, Hedr 7|

(d) GDP per capita, infant mortality rate, literacy rate.

Sifo Slo Ylo Hid =Aidd, [919] gcg I¥, |edr & |

Select the correct code -
& H H T

Options:

Codes :

@_c.r .
aand b

a3 b



Codes :
%.r g

aandc

=5

a-HIlT ¢

Codes :

A

a.band d

a. b & d
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Cuestion Label - Multiple Choice Cuestion

The features of the classical system are :
FANHEHT =TT H =F9dia §

(a) Monetary lfactors determine output and employment.
-, - T - e S D
Il TN SHML Rl Hilssh @hideh FEYd hid & |

(b) Self adjusting mechanism of the economy.
T gEe W - HOEAT O |

(c) State action to direct development.
O EEE & S0 IS B

(d) Optimization through market in the absence of state control
TG I & AT § JrA7 & qJreqH H g |

Select the correct code :
&l | F TG ¢

Options:



Codes :
aand b

; % a3 b

Codes :
a.bandc
> % a, b3

Codes :
b and d
3« b A d

Codes :
a.bandd
4 % a,b =1 d
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Juestion Label - Multiple CThoice Cuestion

Most important theory of increasing public expenditure is associated with :
= o -, [ [ i [ =, . =
ded HIhM TEl & HIMEH H2™I0 HEa FEeidd o JHEeed B o

(a) Adolph Wagner's hy pothesis
HASEH I & TR H

(b) Critical limit hypothesis
r;[5|r|:{- <h _{"iT'qT qr.{’:h\q;' ??F

{¢) Administrative efficiency hypothesis
TATHATHE Tl AT §

(d) Stability of income hypothesis

AT W FEEAr 9iaede T o

Select the correct code :
&7 | B/ T ¢

Options:



Codes :
aand b
| % a3 b

Codes :
Re ¢
a

o e d

Codes :
aandc

=
= I R fc

Codes :
¢ and d
g cHMTd
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Cuestion Label : Multiple Choice Question

Which of the following is tantamount to absence of taxation ?

— [ e s e r K [ = 4 =
FT=eTer | hIF-E1 299 2R A9 & 97 = ¢
Options:

Shifting of the tax
| % THY F TFEeH

Tax transtormation
o % THT T/ T TY

Tax Capitalization
s % THY B AR

Evasion of tax
4 « BT FAII=A
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Cuestion Label : Multiple Choice Question

Mercantilism was based on the ideology of :

= i [ i e« = .y
qIUTdl= [shH MHZl=d 9% ATEEg 8 ¢
Options:

Nationalism
1 v eedls

Globalisation
o % YT

Regionalism
R EIPEIE

Privatisation and Globalisation
P (s ¥ = i
4 % 7311 O FodiaRaol
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Couesticon Label ;- Multiple Choice Question

According to Kuznets, innovation is :
e & FATET J9Ugdd (innovation) &
Options:

Application of new knowledge to production process,
1 & 3T HIshAT H 9T i AN |

Improvement of efficiency ol machines.
o % HUET F oaHar § GH |

Discovery of new consumption needs.
3. ¢ A9 JUHEAT HIE bl Er |

Improvement of marketing technique.

4 % THIUE THARI O HET |
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ouestion Label : Multiple Choice Question

A solution of Walrasian general equilibrium will exist il and only if :

CINEAE DR s e e s (v () o Mk =Ty I o 3kt o Mt | ) S f R e 1 e |
Options:

Condition of fixed point theorem is satistied.
| % T 9 uHT # 9 H=es & S E |

Pareto's condition of optimality is satisfied.

o> « ZEEHAT &1 Tl 9T TS & 2 2 |

Hick's stability conditions are satistied.
5 % (2 ol Rear Reiaal |9<s 21 1. # |

The condition of Pareto's law of income distribution s satistied.

4 % AT GOver & e MEE & 9 9 2
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Select the correct statement of adding up theorem :
IS (UST 39) UH" H JH=i-g0 "2 A9 Hl F949 he

Options:
It income generated by the given output produced during the given period is
distributed according to average productivity of all factors, total income will be
ex hausted.
Az &1 M FEAEiT & IEE {U U 3eE (Ar3eyE) @ gieg A

G =5

HHE B Bl AET IeqEHAl & AJHEE [G@ad B AW B, a &
1% A 9 B S

Total income derived from the output will be exhausted if all factors are paid at the
same rate.

= *. ~ S i~ . - -~
H AT AFSYT | Fd=A Bl & 99 6 S HIEE H UF B 7

e

5 % ¥ AT {eRAT SATET 2

Total income will be exhausted if all factor rewards are proportional to commaodity prices.
AT FHET HEH FHI TS T HAT HI, ATUNTS & df Ho A
3 % T:919 21 S5 |




Total income derived from the output will be exhausted if all factors are paid

according to their marginal productivity.

HAT3SYS & 3O~ H A= a9 21 A= AT FE9T BIEl BOFTH
L HERT ITAMNET & ATHT YA BT A # |
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

All international traded services are covered under which of the following WTO
agreements ?
A B H Sed & e {9 |{am e E=godloddlo HEIIGA &
FANIT oTTHeT B 7
Options:

GATS

| ¢ TEH (FTouoFotHo)

TRIPS
o #® Ir_g’:'-_&‘:{ i:éTGEFlﬁO-Eﬂ?fO‘jTOUHG}

TRIMS
s % 279 (FlodToAR oTHoTHo)

PTA
4 % Jlodiolo
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The act of simultaneously buying a currency in one market and selling in another market
1s called :
1 e B PR | B 7 B R e | S | B - R | | e BTSN = 2 M A |

ErENI[§
Options:

ap

Speculation
1. % HEl

Spotting

2w BT fafee (vt



Forwarding

o % FTHET AIEET 37 9T

Arbitrage
4 v TEmE== A1 AT
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Cuestion Label | Multiple Choice Question
According to A. K. Sen, lamines occurred in India because of :

=

Uo ho HF & AFHAN 97d H FAFE FHET TST (16
Options:

Lack of demand
1 & I|'_F?l| % ] gﬁlﬂ @-

Lack of transportation
o % qQ¥EFET & T BN H

Lack of proper distribution mechanism
3. 3T GO d=1 % 9 BF o

Shortage of food grains

4 ® =] "_‘;il EI:TI ﬂ:qr _!ET
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Juestion Label - Multiple Choice Cuestion

Backward bending supply curve of labour suggests that :

., _ g L [ ! =
AH bl xﬂlgxl_ﬁ deh &l U &l ATT FHAT Hehd HIdAl =
Options:

When wage rate increases, supply of labour declines.
r -, ,—~ — -, [ = e —, i~ %
1. % 59 Aogl &l T dedl & d1 99 hi KA A = Al = |

When wage rate declines, supply of labour increases.
r i, - . = - " —r - =
o % T gl I I Wl & O 99 & AT TS5 2

There is no relationship between wage rate and labour supply.
i T . - i - =1
5 % A Bl T AT &H A H Hg T F=1 7 |




When wage rate increases, initially labour supply increases and alter some point

with the increase in wage rate, labour supply decreases.

A OGS H T ggdl B, A H of ARl Ggdl & AR T megid
4 v T T F FRE T HE A F A wm A [ 2
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Public goods are characterized by :
s g @ [Feudar 2kl &

(a) Collective consumption (b) Divisibility
HfEs STERT EEIER

(c) Non-exclusion (d) Rival consumption
AfEder FE AT Sl el STHNT

Select the correct answer from the codes given below :
1= QU U gE § ggl 30 B =J99 &Y
Options:

Codes :

a and b are correct

a #7 b LB 1:':':

Codes :
R ¢

a and ¢ are correct

_ S - ——a
o o aHAlL ¢cHs ?‘:

Codes :
R ¢

aand d are correct

o i S
AaHAT dH=T &



Codes :
R

b and d are correct
- = [ Py
4 % b3 dHETI &
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Cesticon Label ;- Multiple Choice Question

Assuming wage-price flexibility. the classical economists asserted that a decline in
money wages and price would lead to

QEEIIIEE] ALIMAEAT F 998 g S=eierdr #1999 B0 29 9rd 97
ae &2 ® % ga1 #9iedl AR g9 ° [eEe § = Rafg = 2 2
Options:

Unemployment

= r

1. % FHISmE

Deflation
> % ITIERIT

High level of employment and output
3 TERMT AT Ieqe 1 I=F 7

Unemployment and decline in output
4 % FIEAMAT AT IdEA o [{EmEs
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ouestion Label : Multiple Choice Question

Who explained the importance of time element in price determination for the first time ?
TEcll =97 79 990 § H99 BTl & Hewd Bl e v hAr 7
Options:

Chamberlin

1% TR

Stigler
o % THETY



Mrs. Joan Robinson
2 % THEE S A=

Marshall
4 orafer
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Couesticon Label ;- Multiple Choice Question

Among the following what causes market failure ?

FTeToTierT o =hie ATSTY [awhetal =hl shiee] = 7

(a) Externality
AT=4dT

.

(b) Asvmmetry ol information
AT H FFFETAT

(c) Perfect competition
Choose the correct answer from the codes given below :

9= BU U ke H @& 397 B =999 HY
Options:

Codes :
a. b and ¢ are correct

D

o & bHATcHEl B
Codes :

2

Only a is correct

Aol aH =2l B




Codes :
aand b are correct
addTbhHEaT B

Codes :
@_c.r .

b and ¢ are correct
=

423 l-""\jli-.t\"_,-f "_:_-':
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Cuestion Label - Multiple Choice Cuestion

Which is called Gossen's second law ?
- r . =
AEA & fEaa 599 &9 ®ar A r = 7

Options:

Law of Equi-marginal utility
1 HH-HERT ITHANEr B0 =98

Law of diminishing marginal utility
5 % BETEHEE HEFT I9AMRET & M99

Revealed preference theory

5 % Tehied ATEHMTT HaEmT

Indifference curve approach
4 ®% AT deb AHIETH
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Cuestion Label : Multiple Choice Question

Quantitative restrictions on imports by a country will lead to:
29T & N7 AW 9 9RHOTES Afda-y " AT 9gd9 & & ¢
Options:

Decreased demand for imported products

1. % ST 3edE] & o0 96T o 21




Increased demand for imported products
o % AN IT9El & °0 961 § gk

[nscreased supply of imported products

5 % AT 3Rl & o0 A ° gha

Descreased supply of imported products

4 AT 3cd=l & o0 i o 24
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Cuesticon Label : Multiple Choice Question

An agreement between two countries to maintain a free trade area, a common external
tariff, free mobility of capital and labour and some degree of unification in government
policies and monetary policy is called :

ey S &7 &A1 Wa- AT JHe 9B i, 950 Al 99 &0 Hai

L

AT AT HIHET A= T2 21 Al H @ HE= 96 UHIEHIe 991

I & [0 & Z91 & AT BN AT AT Bl el AT 5
Options:

Common market

| #% THIAT HEhe

Free trade arca
> % HFJ HMT &H

Economic union
5 HAEH HT

Customs union
4 % GTET TR HE
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Couesticon Label ;- Multiple Choice Question



According to Weber's theory of location, the important factors influencing location are :

97 AN ATE WHaF & FAJHR 6= T FAHL Sid 9l J8td g
hiich 1}_'_“:- .

(a) Transport cost (b) Land cost
BIECER Ny HiH ST

(¢) Labour cost {(d) Innovation cost
oI ST TR 9T ST

Choose the correct codes :
87 | B TAT FL
Options:

Codes :

aand b
, % adrTh

Codes :
b and ¢
.
s> % b3HATC

Codes :
aandc

=1
3 ¢ aHllc

Codes :
aand d
4 % A A7 d
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Juestion Label - Multiple Choice GQuestion



Match items given in List-1 with those given in List-11 :
gal-15 931 =1 g4Il %1 937 | gaferdg #ife

List-1 List-11
=l -1l
a. Inventory Theoretic Approach L J. M. Keynes
g HEI-d® FINTH Sfo UHo HiH
b.  Liquidity preference as Behaviour towards risk 1I. Milton Friedman
ST F G99 & 910 Tl AT e wish=
¢.  Money as a temporary abode of purchasing power [II.  James Tobin
o FA 9] 1 AL AT e 2T
d. A discontinuous individual speculative demand for money IV. W. Baumol
function =0 He
HATTEAL AT H2T FAd &1 919 el ”
Options:
Codes :
hc
a b c d
| % I IV I 11
Codes :
EQ_C-'- =
a b ¢ i
, % | | B A |
Codes :
fc
a b & i
2 % I 11 I IV
Codes :
Eg_c.r =
a b ¢ d
v IV 11
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ouestion Label : Multiple Choice Question

The transformation curve is derived from the :

—

EI20T d26 &l Zodra Bl 2
Options:

Consumption curve

| ®% 3IUET T o

Production contract curve

=

>  3I0IeA Hi9sT 9 o

Social welfare function

= % HMETAE HAAT Hed H

Utility possibility curve

4 % ITHATRTAT HGredr 9% o
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Cuestion Label - Multiple Choice Question

Marginal cost is less than the average cost when average cost falls with :

HATT IR AET @9d J 6 2l 2 74 ArEd g e 2
Options:

an increase in output

| @ 3T1eT H gkg & H1E

a decrease in output

o % FIoqed O &l & =Y

constant output

5 % TR F0aTS+

no change in output

4 #% 3099 H HiE 9idad 81
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Cuestion Label - Multiple Choice Question



The producer will substitute capital for labour tll he reaches that point ol isoquant at
which :

3CIE® 951 Bl 99 § 99 d% AU w00 79 d% 97 FUedRE 9% &

39 a5 97 |8l UE=ar 2 FEl
Options:

The price of the good he produces equals wage rate.

| % 38® M 3T g% H HET HAGH H &7 & GET 7 |

Marginal rate of technical substitution equals interest rate.

=,

o % TERAIER] OIS 0 HET &7 =19 &7 % J3E7 2 |

Marginal rate ol technical substitution equal marginal revenue.

5 w TERATH] U= &l |HHEFT &Y HJii9d o9 & 90497 2 |

Marginal rate of technical substitution equals the ratio of marginal productivity of

labour and capital.

Tp-1eh] Afo=qas &l HET &7, 99 UF g3 &% SO Sdesdl &
4 v TAIIE ® ATET E |
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Cuestion Label - Multiple Choice Cuestion

In Harrod's growth model, neutral technical progress implies technical progress as :

Z0= A HiES H g0l dAlhl UIa H dhAlhl Wea &l St
Options:

Capital augmenting

1. ® ':I_f” B FEM H 7

Labour augmenting
=, —h, -
o 99 H FEH H B

Both labour and capital augmenting

R

s % IH AT I3 SE0 B F@H H B

Productivity increasing

4 % SCOEHAT § gl e o &
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ouestion Label : Multiple Choice Question
Which of the following tax can be shifted easily 7

f=fead © | ®F-97 BT ATEET T =i A |\ "ehar 2 7
Options:

Lump-sum tax imposed on the monopolist
, % USNMEEHNT 97 SWMET 497 U §9d &Y

Tax imposed on residential house

5 % ATETHEME 9HF 97 AT IT4T HY

Capital goods meant for sale

3 v T Fg G awd

Succession duty

4 % ITIENEERIE] FFa<El 9+
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Couesticon Label ;- Multiple Choice Question

According to whom, surplus value should be given to labour ?

-

oFe femeer 2 ATET AfE =0 99 H 3 247 FAMB0 7
Options:

Adam Smith
1 F [-.,{JI' Tmﬂq

Karl Marx
> o er| q]'_:F{_'E-

Gandhiyi
ST ] Tﬁ—Fj_i_Tﬁ

A. K. Sen
4 % To o HA9
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which of the following debt redemption method is a process by which maturing debts
are replaced by new bonds and there is no liquidation of the money burden of debt ?

frfeiad O | ®E-H1 F=9 @9 @fg #5 oF uten 2 H5Ey ovaeg 21

T2 RO B AU AVE] H AT HY AT A 2 AT 9T 8 g1 AR @
y : e = ?

Options:

Repudiation
1 # gusH («-[ 'iq_ri.::[..],m:[}

Conversion
> & WU

Capital levy
5 % o FE

Refunding
4 « TEI9 (FHRET)
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Fiscal deficit less interest pavments is called :

Ta= =9rer THEY =0 &0 ISR 9Mae = 210 %l shed 2 ¢
Options:
Net fiscal dehicit

| % 9= TE=irA =mer

Monetised deticit

o % TR =TT

Primary deficit

i d iill?ilrﬁlfﬁ 31

Budgetary deficit

4 % TFAST TS0
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The service area approach was implemented under the purview of :

T 2757 AR 0 BREehl 9MET & 79 @91 f3REr = 7
Options:

Lead Bank Scheme

1. ¢ thm“:l ;_:I.fl.r ;\'q:”:‘

Inte grated Rural Development Programme

5 % Thighd ATHIVT & HIEE

Training the Rural Youth for self employment

o w WISAMT & [ AT Jarear = wigield &0

Mahatma Gandhi National Rural Employment Guarantee Scheme

4 % TETCHT ML) I ATHOT IEEME AEET AT
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Cuestion Label - Multiple Choice Cuestion

Arrange the order of WTO ministerial meetings :

9T =TT |9 1 Ta1 T3 I7 20 & HH Bl FghEdg &Y

[.  Seattle II. Cancun [1L. Singapore IV. Doha
\E I:--],.E—':-::- = A A A f ‘x [ | :[ S ":r: ‘I;
Options:

Cow ILLIIL IV

> % HLIL LIV

= oL LIV, I

4% ILHOLLIV
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Correct Marks: 3 Wrong Marks: 1

ouestion Label : Multiple Choice Question

Match items given in Group-I with those given in Group-II :
q9e-1 1 #3f =1 |98 -1l &0 537 § g $ieg

Group-1
HQE-I

4.  Revenue deficit
L 3 5= = |

b. Fiscal deticit

¢.  Primary deficit
IR E e I |

d. Monetized deficit
=
J—llil";hk‘i S A |
Options:
Codes :
a b e d

. [ Iv I 1

Codes :

Codes :
L@_c." o
a b ¢ d

- w I IV

Codes :
r@?’ &
a b ¢ d
m 1 1 1w

1.

1.

V.

Group-1II
qie-11

Government borrowing from RBI
AT oHoAEo | AT HIHM Fl

Revenue expenditure minus revenue receipts

T =T — g A
Fiscal deficit minus interest payments

TAERYIT =TT — =T 1 GIadr

Total expenditure minus non debt receipts
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

It the elasticity of demand for a commodity is greater than elasticity of supply of the
commodity, then:

— . L i = L) L) e i ) . T . =
i fHET I%g &I 919 1 A" 39S I H W@ " ATGS B 2, Al
Options:

The burden of tax on buyers would be higher than that on sellers.

1 % /T qTY Iaharedt B 2T95T Faral 97 SqTEEE T2 |

The burden of tax on buvers would be lower than that on sellers,
o Y AT [aehar3dl H1 YT haradl I¥ T TS |

The burden of tax on buyers would be equal to that on sellers.
-, _ " _.‘\_ ~ -, T
= % &Y A HalAl AT Tharedi 97 999 =9 § TS|

Incidence cannot be shifted.
4 % Y 9G¥ FH Ggda9 Faf A AT Hhal 2 |
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Devaluation, will improve the balance of pavment deficit, if sum of elasticity of exports
and imports of the devaluing country is:

AT GOdE ST & "e " g 0, A HgHEET B diel 9T
F A A A & @Al & AN 2o

Options:

ereater than one
|« TFH | 196

less than one
> ® Uk % HH

equal to zero
3 % LT & TANR

negative
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Taxes raised are credited into :
FHI H FE H U €99 H " H AT 5o
Options:

Public Accounts
R I CEIGETSEE]

Consolidated Fund
> « HAHhd Y

Contingency Fund
3. % FATRHEA] Y

Private Accounts

4. % 7301 &9
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uestion Label - Multiple Choice Cuestion

ltems which are of recurring nature are covered under :

_ [ [ r R ——— L - « =
AT TBid B HE [HE g9 F FACEIT A B o
Options:

Capital Budget
i % TSN T2

Cash Budget
> % Ihs THC

Revenue Budget
3 ¢ A FAC

Unified Budget
4 % UHPHT I35
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Couesticon Label ;- Multiple Choice Question



Which of the following statements in case of balanced budget multiplier is incorrect !

HAMT T2 U % Jee O i O § HE-91 BT Tod = ¢
Options:

The value of balanced budget multiplier is unity in case ol autonomous taxes.
> - - . [ r - =
1. % T I & HMEHT Hdield 93< UIhE il =4 ol & G 2ldl & |

The value of balanced budget multiplier is always unity no matter whether the taxes
are autonomous or propotional.

Hled g5 Ui FH P Hed THE & A9EI Bl 2 Al H =
o Bl AT SAFENE |

The value ol balanced budget multiplier 1s less than unity in case of propotional
laxes.

= % FAFINTH FHI F AMHES HJied F97¢ JOTF H 79 THe o FT =T = |

The value of Government expenditure multiplier i1s more than the value of tax
multiplier.

4 % T T 96 7 79 67 UIE & o9 o TH1&T Bl = |
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Equity in taxation can best be achieved by applying the principle of :

P g T STUEN I " OHIEIeT H O HIiEs FHAr 9T AT

e = 4 —é‘r :J
Options:

Equal absolute sacrifice

| % HH IR &

Beneftit

o ® TilH

Equal marginal sacrifice

2 ¢ 99 HET TE

Equal proportional sacrifice

4 % TFH IAUIMNOE AT
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The concept of single factoral and double factoral terms of trade have been given by :

I &1 9Td1 I Thel HIeh U5 TSheh SIJEMeong gioaaned a1 4T
Options:

Jacob Viner

| FRE dEaT ST

Haberler

2
= % sl alil

Snider

3_ 23 Ny I o R a:.‘.ll \I

Scammel

4. % ThHel Zl7l
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Fiscal consolidation at the centre can be achieved by :

F= H IO FHHA [FHAT AT JHbal B
Options:
Rationalisation of major subsidies alone

| % THAS UHE Hi=HtsAl H GER HIG J9hT

Reducing the defence expenditure only

o % A TET T T el &Y

Raising the Tax — GDP ratio and rationalization of subsidies

HT Hhe HYe] 3cdlE AT H gl HY 9= HJiedisdl i g Hd
= w kT



Minimising the central assistance to the States

4 ®% 179 I Had G2 A9a9 b
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Cuestion Label : Multiple Choice Question

Which of the following statement is wrong !
FFfeIiad 5 H HE-91 HF T 5 ¢
Options:
Ordinary Money = Currency with the public + Demand Deposits + Other Deposits
with the RBI
HHEFT &1 = FJ9aT & 919 Bl + °HE 7497 + Ao d9lo Ao & 919
1% 334 Trmf

High Powered Money = Currency with the public + Cash Reserves of Banks + Other

Deposits with the RBI

I AT JET = AT & UE BT + TR F UH THS T+ VO
o % dlo ATEo & IE T FTHT

The Third Working Group on Money Supply was headed by Y. V. Reddy
o x 2T O | Haigd dEY G 30§ A99E ] 9o dlo IgS 9

None of the three

4 T H H FE T2
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Juestion Label - Multiple CThoice Cuestion

Crowding out means that :

ST ATHe & AT 2 @
Options:

a government budget deficit lowers interest rates and causes investment spending to
rse

| % FYHIT FH FASH TET AN ATA 7 H HH FHa (497 T Il @em &




an increase in marginal tax rates lowers production
o % HMEFT HT & &7 O gz Al Ieqe9 9 FHI Sl 2

a government budget deficit raises interest rates and causes investment spending to

Fall

HIHT W AT ISl A AT 3¢ H gha wih? a9 =g F HE @
3. V8

a government budget deficit raises country's exports and lowers its imports
™, -, =, [ i r g [ _ ' ™
L3 7 K 7 B I A £ | A M | =0 = PO 2 e = = R 1 2 1 v M e | IR | S
="}
4. % 7|
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

For a linear downward sloping demand curve, which of the following statement is
correct about elasticity of demand ?

O YA A F ST T ONT 9% & [0, OFT 1 S & H9e § &

Fad @& E 7
Options:

Elasticity is constant along the curve

% IT T IY W= RE wEd B

Elasticity is unity at every point on the curve

» % 9L AF UL WE EHE & FUET Bl B

To the left of the middle point of demand curve elasticity is less than one

o b

. T @ & 9= {47 § 9l AT @ ZhE § B Bl 8

Elasticity decreases as we move on the curve from left to right

=,

L % OTH-OTH BEH 9@ H s AT TG 2 W HEdl Sl B

(=
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uestion Label - Multiple Choice Cuestion



A typical cournot solution is defined as :

U OEdl el & ST B Eeiad w9 3 Oy @A ST "9ear 2

Options:

J

one in which the solution is identical to the purely competitive market

-,

% U UHT FHE S s Oia=iear & 91 & 999 8l

w

one in which the solution is identical to the monopoly solution

- % Uth UE THEN ST UHMEHT & FHEE & T 8

one in which the output is above the monopoly and below the purely competitive

result

UF UHT qOeE fAEE 3RS usias & geen ¥ afaw g o=
5 UIANEr § &5 &

none of the three

4 % TN H H FIE AR
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Suppose that the economy is operating at full employment. It the government wants to
discourage consumption spending, stimulate investment spending and maintain full
employment output, which of the following combinations of monetary and fiscal policies
would most likely achieve these goals ?

O SfAag 5 A=ageen gul IEFE &Y 9% %M %7 @l 2| g% "N
3THART &I FH =dRANEd HIAT =AEdl &, Fde] 247 HI UEd HI0 A=l =
TIT TOT TEEIME IC0ES &I Hl FAM WAl A=Al = al g § O
Hifssh Ud ISRME A0 HBl HE-I7 9477 39 S99d: 29 &@%d &1 9T
FHI O T9El =R

Options:
Monetary Policy Fiscal Policy
[ncrease money supply Increase government spending

U S | =t HIENT T T gfa



Monetary Policy Fiscal Policy

Increase money supply Increase personal income taxes
Ly Oid ¥ gz TFTd A& § dha
2 A : = 2
Monetary Policy Fiscal Policy
Decrease money supply Increase government spending
. I Ofc H HHI HYERT =d H dig
3. % = : S
Monetary Policy Fiscal Policy
Decrease money supply Decrease personal income taxes
. I Ofd H HHI ZATFTT AART H HHI
4 ® = ‘
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

A coupon bond pays the owner of the bond :

UF FHIA AvES (FOTIH) ATUSLIH Bl adl B
Options:

the same amount every month until maturity date
1 % U S|HIE LT AIgHE, J198 &l JIEde-—al @& J95949 056

the face value of the bond plus an interest payment once the maturity date has been
reached
o % H198 U HAMGA g T91 99l A1 9¢ =T &/ Y™

a lixed interest payment every period and repays the face value of the maturity date
e _ e s - e ot
o {i99d = YIaE s AGiE H g afiigadan i 97 dJieg o7
z ATt 7

the face value at the maturity date

4 % TTEFAr [arer 97 49vs 99 2 ATRg 979
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

According to Coase's theorem, when property rights are well defined and legally
enforceable and transactions costs are not prohibitive :

FHE H THY FH AJHANT T HUR FH AGFRN T BT H UEHNUT UF
BT BT H TR FIA ART = T9) FEET a0 JiuErssE T8l B oad
Options:

population growth leads to rigid land rights

|« TEHEAT dfE §¢ (FEW) T-ATTHEE Bl T B B
participants will organize their transactions voluntarily to achieve efficient outcomes
HEAW S5 (HTS) TEOMHl Bl UTe 9 &l gt & F===] H e Hl
2 TG FHIA

violence. displacement. erosion and poverty are minimized
|i' »

=21, a9, S99 U9 [Y9ar g9 a9 209

o R

individual's overuse of the biosphere is curtailed

4 % ATFIAT & =T Ad-AYsSe & A ITART T HET AT
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uestion Label - Multiple Choice Cuestion

Which of the following schemes have been subsumed in the Ayushman Bharat National
Health Protection Mission ?

feferET 9 J 6" wEEE (A1) B ATYSHE AT T e eE
A1 H HAMBd &7 @3 1 5 7

Options:

Rashtriva Swashthya Bima Yojana

| w TS R M7 A

Senior Citizen Health Insurance Scheme

o % A6S ARMSl &% (90 @ ™ A



MNational Life Insurance Scheme

5 % TS SET "HT AT

Both Rashtriya Swashthya Bima Yojana & Senior Citizen Health Insurance Scheme

=,

S I g™l A1 U9 giies AFEal & 90 E|EEg g9ET el

4 BT
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Cesticon Label ;- Multiple Choice Question

Maximum Share in Total External Debt of India is of :

=5

T & AT R H HJdMe = T e & 7
Options:

Long-term Borrowings
1. QT IS 0T

Short-term Borrowings

o % ATIRIST T

Medium-term Borrowings
3 % HEgH O Y]

Ultra Long-term Borrowings

4 % AT SR 9
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Cuestion Label - Multiple Choice Cuestion

The Finance Minister of India on September 20th, 2019 announced government's
stimulus pakcage to handle slowdown in the economy. The basic corporate Income Tax
rate has been slashed to

ARG & EOEET T 20 HaET, 2019 B Ademgee ¥ ogE § Aued F En
BT U I AU F | b AGHT BRI AEEHT Bl ST Bl AT (@A
T R

Options:

219% trom 35%
1 % 35% 9 21%



22% from 30%

> « 30% H 22%

21% ftrom 30%

= % 30% H21%

None of the three
o T F F A
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ouestion Label : Multiple Choice Question

As per the Periodic Labour Force Survey 2017-18 released by Ministry ol Statistics and
Programme Implementation recently which of the following data for usuwal Status
Unemplovment Rate is correct 7

HAHE Ud HEhT EhAEAT Bl 219 S0 (60 0 ATEiEE 99 9
HALAU 2017-18 F ATHET FHFT =T GOS0 3T F O HEiE A= 2
_ e —un 1 = =

AlHST § H HE-91 Fal 2 7

Options:

Urban Male Upemployment = 7.1%. Urban Female Unemployment = 10.8%
| B JEY FALCTEIET = 7.1%, 91831 AR =759 = 10.8%

Urban Male Unemployment = 5.1%. Urban Female Unemployment = 10.1%
o % STB1 U5Y SN = 5.1%, 91240 AfEe J2Ermid = 10.1%

Rural Male Unemployment = 5.8%. Rural Female Unemployment = 7.4%
5 % ATHYT J&Y "SI = 5.8%, ATHOT O J3450 040 = 7.4%

None of the three

4 % T H H FHIE AR
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Cesticon Label ;- Multiple Choice Question



Which of the following schemes related to agriculture is not covered under National
Mission for Sustainable A griculture (NMSA) ?
FreferiEd | FlT H HAET HE-E AT "ag By F e I e
(NMSA) & A= Biied 78 2 7
Options:

Rainfed Aread Development (RAD)

| % J7 HATNET &= 96 HEFET (RAD)

Soil Health Management (SHM})
o % TIT =T U9 (SHM)

Paramparagat Krishi Vikas Yojana (PKVY)
3. % IVENETT HY FEE I (PKVY)

Pradhan Mantri Krishi Sinchai Yojana (PMKSY)
4 o IO FY H{=E I (PMKSY)
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Juestion Label - Multiple CThoice Cuestion

With which country did India sign four memorandum of Understanding (MoUs) in
August 2019 on skill development and vocational training, renewable energy, IT services
and space research ?
freferaT " [hE 391 % H=E 9rg | 3 2019 HOo@e HFer,
[ . ., r [ _ [ [ -, _Thae L iy [ -,

SAGHNIE U980, 4R 5, Ao olo HaIAl U A=da o &

. = - o oy
e H Ul S99 9% 2T A B
Options:

China

1 *® -.-r2|‘|-_—|

USA

o W -‘gjo UHo Uo

France
3 I

Russia
4 ® 7’-7‘3{
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Cuestion Label : Multiple Choice Question

Which of the following statement is true for Capital Adequacy Ratio (CAR) as per RBI
norms for Indian Scheduled Commercial Banks and Indian Public Sector Banks ?
AFAE AT AMOMAE =4 A AAE JEATH J5 F A H =
Ao dlo #ABo & AME & AGAN I AT FIIT & o0 HE-AT
Fa9 &l = 7

Options:

Indian Scheduled Commercial Banks Indian Public Sector Banks

ARG AT aifvrsges d@ AT HEsiih &8 & b

L 6% 8%

Indian Scheduled Commercial Banks Indian Public Sector Banks
ARG AT aivrisgs g6 AR Fresii~es &= & b

LA T ard gL
o o 0k 1 25

Indian Scheduled Commercial Banks Indian Public Sector Banks

ARG A anvisyas d6 ARG qidsi~ie &= & b

- 12% 9%

Indian Scheduled Commercial Banks Indian Public Sector Banks

ARG AGYEd difvisgs dw AT HEsii-ich & & dh

4 % 8% 6%
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Cuestion Label @ Multiple Choice Question

The formula to calculate Paasche Price Index is : (0 is the base year and n is the given
vear)

- . . -, . = = .' = . - T
TT9T HET J=hich Bl ST HIA H He5l G F1 E 7 (SE1 0 AT 99w
_:‘\ [ T -y -

AT nl20 B0 g9 =1 FAdCm =)
Options:

v P=X Pyqy/ L Pog,

o ® P=X l:]‘I'J"~|D‘fl Epnqu



= # P=LPyqo/ £ Pogo

4 ® P=X Pntln"ll L PD'LllD
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Couesticon Label ;- Multiple Choice Question

In the prisoner's dilemma :
ST (FET) W gEer w Rafa o o
Options:
the prisoners easily collude in order to achieve the best possible payoll for both
41 AMEET F =Y ATH H OHHAT (HiSSE) ®T od B e 3

1 % 9% Odhe 0o J19T 2

only one player has a dominant strategy
2. % Thdel Uh Naellsl Ugel Y9I edl 2

when each playver chooses his dominant strategy the plavers achieve the best joint

outcome

S O Raeisl 99 UEW YOI Bl AT HId 2 Al 39 Sy
3 % UNUMH H49% 2@ &

when each playver chooses his dominant strategy the plavers reach a Nash

equilibrium

A9 Uods Maeel 99 Udae YOG R =@E9 Hed B aerer =T
4 TR & UTS BT 2
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Juestion Label - Multiple Choice Cuestion

It Karl Pearson's Coefhicient of Correlation 1s known to be r = (0.8, what will be the value
ol probable error ?

S el UFET T H2HEE S = 0.8 B, Of §9ed [F99 (JEge 0w
&I HI9 &7 BRTT 7

Options:

1. % 0.0345

=« 0.0243



3. % 0.0253

4 % (L0265
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Cesticon Label ;- Multiple Choice Question
What do vou report in a multiple regression to say whether yvour model was significant or
not ?
AT U g8 dia=ad 5 "8 usidd w79 & [0 6 s sy A=y 2
o7 S5l THEEHT TN Al 7
Options:

.

Ra_

5

1. % R°

ANOVA
> v ToUToATodolo (ANOVA)

Chi-square
5 % BT (&)

Adjusted R’
4 % FATANAT R
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Juestion Label - Multiple Choice Cuestion
Tvpe-1 error occurs if :

ZeT-1 Afe 3e0 Bl & 74
Options:

The null hypothesis is rejected even though it is true
| HEI T84 & JF9s 99 IEHEIAT ST &Y &1 AR B

The null hypothesis i1s accepted even though it is false
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Both the null hypothesis as well as alternative hypothesis are rejected
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None of the three
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Couesticon Label ;- Multiple Choice Question

In a multiple linear regression, what means homoskedasticity of the error term ?

o & r
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Options:

All error terms u; have the same variance across all observationsi1=1;2; .....;n
AT T 92w HT FHA AGABAT i=1;2; ....; n 0 FHH 9697 BT
=,

1V B

The regressors have each the same variance across all random observations 1= 1; 2:

HOTAEET (RIET) 1 §497 AE=s8® FqGadG4l i= 13 2 ... n & WY
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Two error terms w; and u; with j = i always a different variance fori=1:; 2; .....n

Bl Z[f?r Tl w Ug U T2l i = i = 2 | L [ e [ R R = A |
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The regressors and the error term are linearly dependent
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